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1: 1 BELIEZOFBEICEDSVDDEIETHFELEL=D, Q1 What was the percentage of your
attendance in the course? [ :BiRX: 4 HiR 1]
mEEES [EE A s |BETEHR|2FFHR

1 1. 100-90% 22 4 3.8 3.8

2 2. 80—-70% 1 3

3 3. 60-50% 2 2

4 4. Less than 50% 0 1

a&t 25

2: B2 HEEF COBECBASTICHBELE-BIAEENSLTTH, Q2 What was the percentage
of your punctual attendance in the course? [ ZEIRN: 4 FiR 1]

RZEES EES A# iR [BEFEYR|2FTHR
1 1. 100-90% 22 4 3.8 3.8
2 2. 80-70% 1 3
3 3. 60-50% 2 2
4 4. Less than 50% 0 1
A&t 25

3: B8 BEICITFEAMICIYBAHEL-M. Q3 You actively participated into the course. [ B : 4

HR 1]
REES EE= AE iR |BEEFYR[(£FFER
1 1. [58<Z 585 I(Strongly Agree) 15 4 3.5 3.4
2 2. 12585 |(Agree ) 8 3
3 3. 25 B 7LV I(Disagree) 2 2
4 4. T FE>1={F5 B 7%V I(Strongly Disagree) 0 1
a&t 25

4: 4 BREANDERF. ZEREDIS2=HS—30%FLYELI=D . Q4 You communicated with the
lecturer(s) by asking some questions or other in the course. [ EIR=K : 4 HFR 1]

REES EE= AE iR |BEEFYR[(£FFER
1 1. M58<Z 585 I(Strongly Agree) 12 4 3.3 3.2
2 2. TZF585(Agree ) 9 3
3 3. 5B H7ELr I(Disagree) 4 2
4 4. TES=KZES5B H 7L |(Strongly Disagree) 0 1
a&t 25

5: f5 BEDEREMELLLEL=D ., Q5 You made good preparations about the course. [ TR :

43EFR 1]
EEES [EE= A# s |SBEEYR[(£FFENR
1 1. N38<Z 583 I(Strongly Agree) 12 4 3.4 3.1
2 2. 2585 1(Agree ) 10 3
3 3. [Z5B 7Ly I(Disagree) 2 9
4 4. [ FE->1={ZF5 8% |(Strongly Disagree) 0 1
ait 24




6: 6 BEDEZELLELI=H., Q6 You made reviews well about the course. [ JZBIR=: 4 HFiR 1]

REES [EE-3 A# s |SBEFYR[(£FFHR
1 1. I38<Z 585 |(Strongly Agree) 10 4 34 3
2 2. 12585 1(Agree ) 14 3
3 3. 25 B %V I(Disagree) 1 9
4 4. [FE>1={F5BH7:0\ |(Strongly Disagree) 0 1
&=
a&t 25

7: 7 PSNRET.EEOHN. AR, RiEFMOEZEIT B REINFELI=M, Q7 The objective,
contents, criteria for the grades were appropriately shown in the syllabus or other. [ E#R=: 4 FH 1]

RZEES EES A# iR [BEFEYR|E2FTHR
1 1. T58<Z 585 I(Strongly Agree) 13 4 3.4 3.4
2 2. 12585 1(Agree ) 8 3
3 3. 5B 7Ly I(Disagree) 4 2
4 4. TFEo>1={ZF5B 7LV I(Strongly Disagree) 0 1
ait 25

8: 8 BEDIHEIXIINADABREMELTLVELT=H. Q8 The actual contents in the lessons were

corresponding to those in the syllabus. [ EBR=X: 4 FiIR 1]

EEES (B A# Fils |BRETEHR|2FFHR
1 1. 38<Z 585 1(Strongly Agree) 15 4 3.6 3.4
2 2. 25885 I(Agree ) 9 3
3 3. [F5B %L\ I (Disagree) 1 2
4 4. TFEo1={ZF5B 7LV I(Strongly Disagree) 0 1
it 25

9 : 19 EBEBMBIIFTLICHEBRINTLVELT=H . Q9 The number of lessons was appropriately
maintained. [ 3#BIR=: 4 FR 1]

RZEES B A# s [BEFIR|2FTEYR
1 1. [58<Z 585 I(Strongly Agree) 15 4 35 3.4
2 2. 12585 |(Agree ) 8 3
3 3. 258 7%V I(Disagree) 1 2
4 4. T FE>1={F5 B %LV I(Strongly Disagree) 1 1
a&t 25

10 : {10 BEAFTOHSEIIEY T, BAETRELHEBEATL/=M ., Q10 The contents was appropriate in
terms of difficulty. [ BIR=K: 4 HIR 1]

REES Bk AE s [BEFIR|2FTEYR
1 1. [58<Z 585 I(Strongly Agree) 12 4 3.4 3.3
2 2. 12585 1(Agree ) 12 3
3 3. 25 B H7EL I(Disagree) 1 2
4 4. T FE>1={F5 B 1%LV I(Strongly Disagree) 0 1
A&t 25

11 : B BEICHELGFRAEREEEIZEATOVEL=A . Q11 You had already learned the necessary

prior knowledge before the course. [ EIR=: 4 HR 1]

BREEE B A¥ s |BETHR|[£FFEYR
1 1. M58<Z 585 I(Strongly Agree) 11 4 3.3 3.1
2 2. 12585 |(Agree ) 10 3
3 3. N Z5E H7EL I(Disagree) 4 2
4 4. T FE>1={F5 B 1%LV I(Strongly Disagree) 0 1
a&t 25




12 : 12 HLEEEIBRRICEVHAWLRIBZERZIT. SHICRET I HEFEATAHVDEBNELED,
Q12 You would like to study the academic field related with the course by being intellectually stimulated.

[ #IRK: 4 H/R 1]

REES Bk A s [BEFYR|2FTEYR
1 1. 58 <F 58S I(Strongly Agree) 16 4 3.6 3.3
2 2. T 2585 1(Agree ) 7 3
3 3. [Z5B %LV (Disagree) 2 2
4 4. TFEo1={ZF5 B 7LV I(Strongly Disagree) 0 1
At 25
13 : 13 BERBIFFETLI=H, Q13 The course was useful for you. [ EIR=K: 4 FiR 1]
REEE [EE A#| s |BEFYR|2FEYHR
1 1. 58 <F 58S I(Strongly Agree) 18 4 3.6 35
2 2. #5885 (Agree ) 6 3
3 3. [F5B %LV (Disagree) 0 2
4 4. TFEo>1={ZF5B 7LV I(Strongly Disagree) 1 1
At 25
14 : @14 RiR. FEE-HRUREFEERATIEEDORE. FEOARHRHTLED, Q14 The
bla%fz_l;}%oarii, audio—visual and/or IT equipments were effectively used in the case (if applicable). [ EBR= :
4 1
REES EES AH s [BEFSR|2FTEYHR
1 1. [58<Z 585 I(Strongly Agree) 15 4 3.5 3.4
2 2. TZF585(Agree ) 8 3
3 3. I #5B 7% |(Disagree) 2 2
4 4. T FE->1={FS5B 750\ (Strongly Disagree) 0 1
A&t 25

15 : f15 THXRRMOTYLMIEDHBBM IIBERNBREEMRITADICRIBEL=H., Q15 The

textbook and/or other handouts were useful for you to understand the contents in the course. [ iBIR= :

4 EFR 1]
REEE (EE A#| s |BEFYR|£FTEYHR
1 1. M58<Z 585 I(Strongly Agree) 14 4 35 3.4
2 2. 12585 |(Agree ) 9 3
3 3. 25 B %LV I(Disagree) 2 2
4 4. T FE>1={F5 B %LV I(Strongly Disagree) 0 1
a&t 25

16 : 16 /—FOAEIZERYAPTHo1-TFhH ., Q16 It was easy for you to take notes in the course. [
BRHK: 4 HR1)

REES Bk AE iR |BEEFYR[(£FFER
1 1. M58<Z 585 I(Strongly Agree) 15 4 35 3.3
2 2. TZF585(Agree ) 8 3
3 3. 258 %LV I(Disagree) 2 2
4 4. T FE>1={F5 B 1%LV I(Strongly Disagree) 0 1
a&t 25

17 : 17 HEAEOE. ELAREZIMYAOT Mo=TTH., Q17 It was easy for you to hear the lecturer’ s
voice and the manner of speaking. [ B#RzL: 4 {FiIR 1]

BREEE B A¥ s |BETHR|[£FFEYR
1 1. M58<Z 585 I(Strongly Agree) 15 4 35 35
2 2. 12585 |(Agree ) 8 3
3 3. 25 B H7EL I(Disagree) 2 2
4 4. T FE>1={F5 B 1%LV I(Strongly Disagree) 0 1
a&t 25




18 : 18 BETCEMINSEELHRANHASNTLOEL=D, Q18 The lecturer(s) emphasized the

important points to be understood in the course. [ :BIR=K: 4 HIR 1]

REES Bk A s |SBEFYR[(£FFHR
1 1. T58<Z 5835 I(Strongly Agree) 14 4 35 34
2 2. T 2585 1(Agree ) g 3
3 3. [Z5B 7L |(Disagree) 2 2
4 4. [FE>1={FS5B 750\ |(Strongly Disagree) 0 1
At 24

19 : 19 HERZFEITBE~AOSM(FEELE)ZRL, BRWEHBICTESITHBLTLELE=D, Q19

The lecturer(s) responded to students’ questions and/or discussions by promoting their participation. [ &

RK: 4 FIR 1]
REES EE A# Fifis |BEFYHR[(L£FFEHR
1 1. I58<F 58S I(Strongly Agree) 16 4 3.6 34
2 2. TZ55 I(Agree ) 7 3
3 3. 5B 7LV (Disagree) 2 2
4 4. TFEo1={ZF5 B 7LV I(Strongly Disagree) 0 1
A&t 25
20 : 520 HEI=ITE-T . BEDEAAITFEYELDTLI=H . Q20 The way of proceedings was
appropriate for you. [ ®IR=: 4 HEIR 1]
REES EE= AH s |BEFHA[(£FFEER
1 1. I58<Z 585 I(Strongly Agree) 14 4 35 3.4
2 2. 12585 |(Agree ) 9 3
3 3. [F5B %L\ | (Disagree) 2 2
4 4. T FE->1={FS5B 750\ (Strongly Disagree) 0 1
A&t 25

21 : B21 HEI2E-T, BETHERKRBOEDTLI=M, Q21 The course was interesting for you. [ =R

K:4FR1)
REES EE= A s |BEFHA[(£FFEER
1 1. M58<Z 585 I(Strongly Agree) 15 4 35 3.4
2 2. 12585 1(Agree ) 9 3
3 3. [F5B %L\ I (Disagree) 0 2
4 4. T FE->71=K{F5B 17\ |(Strongly Disagree)4 1 1
&5t 25

22 : 522 BEICHTHIHEOREEZRELELI=H. Q22 You felt the lecturer’ s sincerity in the course.
[ZBIR=K: 4 /IR 1]

mREEE [EE= A# s | SBEEYR[(£FFEER
1 1. T58<Z 585 I(Strongly Agree) 19 4 3.7 35
2 2. TZ585 |(Agree ) 4 3
3 3. [Z5 B 7Ly I(Disagree) 2 2
4 4. TES1=KFS5B %L |(Strongly Disagree) 0 1
At 25

23 : [23 REMICHELT, COBEISHERLEL=HM. Q23 Comprehensively evaluating, you were
satisfied with the course [ iR : 4 FHiR 1]

EEES [EE= A# s |SBEEYR[(£FFENR
1 1. T58<Z 585 I(Strongly Agree) 16 4 3.6 34
2 2. TZ585 I(Agree ) 8 3
3 3. [Z5B 7Ly I(Disagree) 1 9
4 4. TES1=KFS5B %L |(Strongly Disagree) 0 1
At 25




